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QUESTION 1

Which component is required to access the Service Indicator Data page from SSS_STUDENT_CENTER? 

A. SCC_SI_ASSN 

B. SERVICE_IND_PERS 

C. SRVC_AUDIT_JDATA 

D. ACTIVE_SRVC_INDICA 

E. SCC_SI_AUDIT_SRCH 

Correct Answer: D 

 

QUESTION 2

Your client wants to restrict the users that can change a student\\'s Program/Plan stack to reflect a Dismissal. Which
row-level security function can allow institution to restrict the options that a user can access on the stack? 

A. Program Action security 

B. Program security 

C. Plan security 

D. Admissions Action security 

E. Transaction security 

Correct Answer: A 

 

QUESTION 3

Which two statements are true about how the Gender and Salutation fields operate within the joint communications
functionality? 

A. The Gender and Salutation fields are only for Information, and have no effect on each other. 

B. If Gender is unknown. Salutation reflects the Gender value on the Biographical Details page. 

C. PeopleSoft places the male name first in the Salutation field. 

D. If Gender is unknown, the Salutation field defaults to the value of Mr. 

E. PeopleSoft places the female name first in the Salutation field. 

Correct Answer: A 
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QUESTION 4

Which Academic Structure component drives the Activity Management Administration row-level security? 

A. Academic Organization 

B. Academic Program 

C. Academic Plan 

D. Academic Institution 

E. Enrollment Access ID 

Correct Answer: E 

 

QUESTION 5

A student\\'s transcript does not match the cumulative units or GPA from the legacy system. 

Which two steps would you perform to troubleshoot this error? 

A. Review the Grading Basis and Scheme setup to ensure that they are built correctly. 

B. Review the Course Catalog to ensure that it was built correctly. 

C. Review the enrollment request audit to see if any enrollments failed to process successfully. 

D. Review the student\\'s service indicators to see if they have impacted statistics. 

E. Review the student\\'s milestones. 

Correct Answer: A 
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